
5849 PEACHTREE ROAD
ATLANTA, GEORGIA 30341
T 770 921 5566
T 800 445 4796
F 770 279 1327
INNERFACESIGN.COM

S E R I E S
SPECIFICATIONS



MOUNTING DIAGRAM 01



MOUNTING BRACKET DIAGRAM (A) 02

Height: 1.0
2.0
2.11
2.22

-  2.25”
-  3.75”
-  3.75”
-  3.75”

A



MOUNTING BRACKET DIAGRAM (B) 03

Height: 3.0
3.7
4.0
4.11
4.22
4.33
4.44
4.6
4.7

-  2.25”
-  4.5”
-  7.00”
-  7.00”
-  7.00”
-  7.00”
-  7.00”
-  7.00”
-  7.00”

B

7.0V -  11.75”



MOUNTING BRACKET DIAGRAM (C) 04

C

Height: 5.0
5.5
5.6
6.0

-  2.25”
-  4.50”
-  4.50”
- 8.625”

8.11 - 11”
8.12 - 13.375”

6.11 - 8.625”
6.22 - 8.625”
6.33 - 8.625”
6.44 - 8.625”
6.6 - 8.625”



MOUNTING BRACKET DIAGRAM (D) 05

D

Height: 7.0

8.0

10.0
11.0
12.0
13.0

-  7.00”

-  11.75”

-  10.0”
- 15.875”
-  21.75”
-  27.875”

29.0 -  13.125”

7.1 -  7.00”

8.6 -  11.75”



MOUNTING BRACKET DIAGRAM (E) 06

15 .5’’

1.00”

Height: 9.0 -  15.5”

1.375’’

Width 15.5’’ NTSE

E



MOUNTING BRACKET DIAGRAM (F) 07

1.50”

1.375’’

18’’

Width 18.00’’ NTSF

F

Height:

10.1
11.1
12.1
13.1
14.0
15.0
16.0

-  10.00”
-  15.875”
-  21.75”
-  27.625”
-  15.625”
-  25.00”
-  34.375”

9.1 -  18.00”
8.86 -  11.75”



MOUNTING BRACKET DIAGRAM (G) 08

1.375’’

1.45”

23’’

Width 23.00’’ NTSG

G

Height:
14.1
15.1
16.1

-  15.625”
-  25.00”
-  34.375”

7.24 -  7.00”



ARQ SIGN TYPE MODULES



3-3/4”

2-1/4”

End Cap

Clear 
Faceplate Insert

Clear 
Anodized
Frame

2-1/4” x 3-9/16” Insert Size

1.0

MODULE ARQ 1.0 DIAGRAM         SCALE = FULL 10



2.0

MODULE  2.0 DIAGRAMARQ         SCALE = FULL 11

3-3/4”

3-3/4” x 3-9/16” Insert Size

3-3/4”

End Cap

Clear 
Faceplate Insert

Clear 
Anodized
Frame



2.11

MODULE  2.11 DIAGRAMARQ         SCALE = FULL 12

3-3/4”

(1)A-Insert = 2.9688” x 3-9/16”

3-3/4”

1/8” Divider

.6562”

2.9688”

(1)B-Insert = .6562” x 3-9/16”

Clear 
Anodized
Frame

End Cap

Clear 
Faceplate Insert



2.22

MODULE  2.22 DIAGRAMARQ         SCALE = FULL 13

3-3/4”

End Cap

Clear 
Faceplate Insert

Clear 
Anodized
Frame

(1)A-Insert = 2.1875” x 3-9/16”

3-3/4”

1/8” Divider

.6562”

2.1875”

(2)B-Inserts = .6562” x 3-9/16”

1/8” Divider

.6562”



3.0

MODULE  3.0 DIAGRAMARQ    SCALE = 1:2 14

7”

2-1/4”

End Cap

Clear 
Faceplate Insert

Clear 
Anodized
Frame

2-1/4” x 6-7/8” Insert Size



3.7

MODULE 3.7 DIAGRAMARQ    SCALE = 1:2 15

7”

4-1/2”

End Cap

Clear 
Faceplate Insert

Clear 
Anodized
Frame

4/1/2” x 6-7/8” Insert Size



4.0

MODULE 4.0 DIAGRAMARQ    SCALE = 1:2 16

7”

7” x 6-7/8” Insert Size

7”

End Cap

Clear 
Faceplate Insert

Clear 
Anodized
Frame



4.11

MODULE 4.11 DIAGRAMARQ             SCALE = 1:2 17

7”

Clear 
Anodized
Frame

End Cap

Clear 
Faceplate Insert

7”

1/8” Divider

.6562”

6.2188”

(1)A-Insert = 6.2188” x 6-7/8”

(1)B-Insert = .6562” x 6-7/8”



4.22

MODULE 4.22 DIAGRAMARQ             SCALE = 1:2 18

7”

Clear 
Anodized
Frame

End Cap

Clear 
Faceplate Insert

7”

1/8” Divider

.6562”

5.4376”

(1)A-Insert = 5.4376” x 6-7/8”

(2)B-Inserts = .6562” x 6-7/8”

.6562”
1/8” Divider



4.33

MODULE  4.33 DIAGRAMARQ             SCALE = 1:2 19

7”

Clear 
Anodized
Frame

End Cap

Clear 
Faceplate Insert

7”

1/8” Divider

.6562”

4.6564”

(1)A-Insert = ” x 6-7/8”4.6564

(3)B-Inserts = .6562” x 6-7/8”

.6562”
1/8” Divider

.6562”
1/8” Divider



4.44

MODULE 4.44 DIAGRAMARQ             SCALE = 1:2 20

7”

Clear 
Anodized
Frame

End Cap

Clear 
Faceplate Insert

7”

1/8” Divider

.6562”

3.8752”

(1)A-Insert = ” x 6-7/8”3.8752

(4)B-Inserts = .6562” x 6-7/8”

.6562”
1/8” Divider

.6562”
1/8” Divider

.6562”
1/8” Divider



4.6

MODULE  4.6 DIAGRAMARQ    SCALE = 1:2 21

7”

7”

3.4375”

(2)Inserts = ” x 6-7/8”3.4375

1/8” Divider

Clear 
Anodized
Frame

End Cap

Clear 
Faceplate Insert

3.4375”



4.7

MODULE  4.7 DIAGRAMARQ    SCALE = 1:2 22

7”

Clear 
Anodized
Frame

End Cap

Clear 
Faceplate Insert

7”

2-1/4”

(1)A-Insert = ” x 6-7/8”2-1/4

1/8” Divider

4-5/8”

(1)B-Insert = ” x 6-7/8”4-5/8



5.0

MODULE  5.0 DIAGRAMARQ    SCALE = 1:2 23

8-5/8”

2-1-4”

2-1/4” x 8-1/2” Insert Size

End Cap

Clear 
Faceplate Insert

Clear 
Anodized
Frame



5.5

MODULE  5.5 DIAGRAMARQ    SCALE = 1:2 24

8-5/8”

4-1/2”

4-1/2” x 8-1/2” Insert Size

End Cap

Clear 
Faceplate Insert

Clear 
Anodized
Frame



5.6

MODULE  5.6 DIAGRAMARQ    SCALE = 1:2 25

8-5/8”

1/8”

2-3/16”

4-1/2”

2-3/16”

Clear 
Anodized
Frame

End Cap

Clear 
Faceplate Insert

(2)Inserts =  2-3/16” x 8-1/2”



6.0

MODULE  6.0 DIAGRAMARQ    SCALE = 1:2 26

8-5/8” x 8-1/2” Insert Size

8-5/8”

8-5/8”

End Cap

Clear 
Faceplate Insert

Clear 
Anodized
Frame



6.11

MODULE  6.11 DIAGRAMARQ             SCALE = 1:2 27

8-5/8”

8-5/8”

End Cap

Clear 
Faceplate Insert

Clear 
Anodized
Frame

1/8” Divider

7/8”

7-5/8”

 (1)A Insert = 7-5/8” x 8-1/2”

 (1)B Insert = 7/8” x 8-1/2”



6.22

MODULE  6.22 DIAGRAMARQ             SCALE = 1:2 28

 (1)A Insert = 6-5/8” x 8-1/2”

8-5/8”

8-5/8”

End Cap

Clear 
Faceplate Insert

Clear 
Anodized
Frame

1/8” Divider

1/8” Divider

7/8”

7/8”

6-5/8”

 (2)B Inserts = 7/8” x 8-1/2”



6.33

MODULE  6.33 DIAGRAMARQ             SCALE = 1:2 29

 (1)A Insert = 5-5/8” x 8-1/2”

8-5/8”

8-5/8”

End Cap

Clear 
Faceplate Insert

Clear 
Anodized
Frame

1/8” Divider

1/8” Divider

1/8” Divider

7/8”

7/8”

7/8”

5-5/8”

 (3)B Inserts = 7/8” x 8-1/2”



6.44

MODULE  6.44 DIAGRAMARQ             SCALE = 1:2 30

 (1)A Insert = 4-5/8” x 8-1/2”

8-5/8”

8-5/8”

End Cap

Clear 
Faceplate Insert

Clear 
Anodized
Frame

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

7/8”

7/8”

7/8”

7/8”

4-5/8”

 (4)B Inserts = 7/8” x 8-1/2”



 (2)Inserts = 4-1/4” x 8-1/2”

8-5/8”

8-5/8”

End Cap

Clear 
Faceplate Insert

1/8” Divider

4-1/4”

4-1/4”

6.6

MODULE  6.6 DIAGRAMARQ    SCALE = 1:2 31



7.0

MODULE  7.0 DIAGRAMARQ    SCALE = 1:2 32

11-3/4”

7”

End Cap

Clear 
Faceplate Insert

Clear 
Anodized
Frame

7” x 11-5/8” Insert Size



7.0V 

MODULE  7.0 VERTICAL DIAGRAMARQ    SCALE = 1:2 33

7”

11-3/4” x 6-7/8” Insert Size

11-3/4”

Clear 
Anodized
Frame

End Cap

Clear 
Faceplate Insert



7.1 

MODULE  7.1 DIAGRAMARQ                      SCALE = 1:2 34

11-3/4”

7”

End Cap

Clear 
Faceplate Insert

Clear 
Anodized
Frame

(2)Inserts = 3-7/16” x 11-5/8”

1/8” Divider

3-7/16”

3-7/16”



7.24

MODULE  7.24 DIAGRAMARQ                               SCALE = 1:4 35

23”

7” x 22-7/8” Insert Size

7”

End Cap

Clear 
Faceplate Insert

Clear 
Anodized
Frame



8.0

MODULE  8.0 DIAGRAMARQ    SCALE = 1:4 36

11-3/4”

11-3/4” x 11-5/8” Insert Size

11-3/4”



8.11

MODULE  8.11 DIAGRAMARQ             SCALE = 1:2 37

8-5/8”

11”

11” x 8-1/2” Insert Size



8.12

MODULE  8.12 DIAGRAMARQ             SCALE = 1:4 38

8-5/8”

11”

(1)B Insert = 11” x 8-1/2” 

1/8” 
Divider

13-3/8”

2-1/4”

(1)A Insert = 2-1/4” x 8-1/2”



8.6

MODULE  8.6 DIAGRAMARQ                               SCALE = 1:4 39

11-3/4”

11-3/4”

(2)Inserts = 5-13/16” x 11-5/8” 

1/8” Divider

5-13/16”

5-13/16”



8.86

MODULE  8.86 DIAGRAMARQ             SCALE = 1:4 40

18”

 11-3/4” x 17-7/8” Insert Size

11-3/4”



9.0

MODULE  9.0 DIAGRAM    SCALE = 1:4ARQ 41

15-1/2”

15-1/2” x 15-3/8” Insert Size

15-1/2”



9.1

MODULE  9.1 DIAGRAMARQ    SCALE = 1:4 42

18”

18” x 17-7/8” Insert Size

18”



10.0

MODULE  10.0 DIAGRAMARQ             SCALE = 1:4 43

11-3/4”

10”

2.95”

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

(5)B Inserts = 1.03” x 11-5/8”
(1)A Insert = 2.95” x 11-5/8” 

(1)C Insert = 1.03” x 11-5/8” 



10.1

MODULE 10.1 DIAGRAMARQ             SCALE = 1:4 44

18”

10”

2.95”

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

(5)B Inserts = 1.03” x ”17-7/8
(1)A Insert = 2.95” x 17-7/8”

(1)C Insert = 1.03” x ”17-7/8



11.0

MODULE  11.0 DIAGRAMARQ               SCALE = 1:4 45

11-3/4”

15-7/8”

2.95”

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

(10)B Inserts = 1.03” x 11-5/8”
(1)A Insert = 2.95” x 11-5/8”

(1)C Insert = 1.03” x 11-5/8”



11.1

MODULE  11.1 DIAGRAMARQ             SCALE = 1:4 46

15-7/8”

18”

2.95”

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

(10)B Inserts = 1.03” x 17-7/8”
(1)A Insert = 2.95” x 17-7/8”

(1)C Insert = 1.03” x 17-7/8” 



12.0

MODULE  12.0 DIAGRAMARQ             SCALE = 1:4 47

(1)A Insert = 2.95” x 11-5/8” 
(15)B Inserts = 1.03” x 11-5/8”
(1)C Insert = 1.03” x 11-5/8”

11-3/4”

21-3/4”

2.95”

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”



12.1

MODULE 12.1 DIAGRAMARQ             SCALE = 1:4 48

18”

21-3/4”

2.95”

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

(15)B Inserts = 1.03” x ”17-7/8
(1)A Insert = 2.95” x 17-7/8”

(1)C Insert = 1.03” x ”17-7/8



13.0

MODULE 13.0 DIAGRAMARQ             SCALE = 1:4 49

11-3/4”

27-5/8”

2.95”

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

(1)A Insert = 2.95” x 11-5/8”
(20)B Inserts = 1.03” x 11-5/8” 
(1)C Insert = 1.03” x 11-5/8” 



13.1

MODULE 13.1 DIAGRAMARQ             SCALE = 1:4 50

18”

27-5/8”

2.95”

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

1.03”

(20)B Inserts = 1.03” x ”17-7/8

(1)A Insert = 2.95” x 17-7/8”

(1)C Insert = 1.03” x ”17-7/8



14.0

MODULE 14.0 DIAGRAMARQ             SCALE = 1:4 51

18”

15-5/8”

4-3/8”

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1-3/4”

1-3/4”

1-3/4”

1-3/4”

1-3/4”

1-3/4”

(5)B Inserts = 1-3/4” x ”17-7/8
(1)A Insert = 4-3/8” x 17-7/8”

(1)C Insert = 1-3/4” x ”17-7/8



14.1

MODULE 14.1 DIAGRAMARQ             SCALE = 1:4 52

23”

15-5/8”

4-3/8”

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1-3/4”

1-3/4”

1-3/4”

1-3/4”

1-3/4”

1-3/4”

(5)B Inserts = 1-3/4” x ”22-7/8
(1)A Insert = 4-3/8” x 22-7/8”

(1)C Insert = 1-3/4” x ”22-7/8



15.0

MODULE  15.0 DIAGRAMARQ             SCALE = 1:4 53

18”

25”

4-3/8”

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1-3/4”

1-3/4”

1-3/4”

1-3/4”

1-3/4”

1-3/4”

1-3/4”

1-3/4”

1-3/4”

1-3/4”

1-3/4”

(1)A Insert = 4-3/8” x 17-7/8”

(10)B Inserts = 1-3/4” x ”17-7/8

(1)C Insert = 1-3/4” x ”17-7/8



15.1

MODULE  15.1 DIAGRAMARQ             SCALE = 1:4 54

23”

25”

4-3/8”

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1-3/4”

1-3/4”

1-3/4”

1-3/4”

1-3/4”

1-3/4”

1-3/4”

1-3/4”

1-3/4”

1-3/4”

1-3/4”

(10)B Inserts = 1-3/4” x ”22-7/8
(1)A Insert = 4-3/8” x 22-7/8”

(1)C Insert = 1-3/4” x ” 22-7/8



16.0

MODULE  16.0 DIAGRAMARQ             SCALE = 1:8 55

18”

34-3/8”

4-3/8”

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1-3/4”

1-3/4”

1-3/4”

1-3/4”

1-3/4”

1-3/4”

1-3/4”

1-3/4”

1-3/4”

1-3/4”

1-3/4”

1-3/4”

1-3/4”

1-3/4”

1-3/4”

1-3/4”

(1)A Insert = 4-3/8” x 17-7/8”
(15)B Inserts = 1-3/4” x ”17-7/8
(1)C Insert = 1-3/4” x ” 17-7/8



16.1

MODULE 16.1 DIAGRAMARQ             SCALE = 1:8 56

23”

34-3/8”

4-3/8”

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1/8” Divider

1-3/4”

1-3/4”

1-3/4”

1-3/4”

1-3/4”

1-3/4”

1-3/4”

1-3/4”

1-3/4”

1-3/4”

1-3/4”

1-3/4”

1-3/4”

1-3/4”

1-3/4”

1-3/4”

(15)B Inserts = 1-3/4” x ”22-7/8

(1)A Insert = 4-3/8” x 22-7/8”

(1)C Insert = 1-3/4” x ”22-7/8



29.0

MODULE 29.0 DIAGRAMARQ             SCALE = 1:4 57

11-3/4”

13-1/8”

2.95”

1/8” Divider

1/8” Divider

1.39”

8.5”

(A)Insert = 2.95” x 11-5/8”
(B)Insert = 8.5” x 11-5/8”
(C)Insert =  1.39” x 11-5/8”



ARQ FREESTANDING MODULES



18”

MODULE 18” FREESTANDING DIAGRAM        ARQ SCALE: 3/4” = 1’ 59

72”

Screw Hole Bolted to Floor

18”

End Cap

Clear 
Faceplate

Insert

Clear 
Anodized
Frame

Screw Hole Bolted to Floor

* SIGN MUST BE DOUBLE SIDED.



23”

MODULE  23” FREESTANDING DIAGRAM        ARQ SCALE: 3/4” = 1’ 60

72”

Screw Hole Bolted to Floor

23”

End Cap

Clear 
Faceplate

Insert

Clear 
Anodized
Frame

Screw Hole Bolted to Floor

* SIGN MUST BE DOUBLE SIDED.


